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— PPRWR RAWAW Y92 5T
And what if by a utensil which is X»w» liquids

OVERVIEW

The X713 explains that 7pwn (in the P09 of XYY - XAW> 773 932 INW WK APWH 91)
cannot be 0°7> Xnaun because there is a 1"p which excludes it; for if 2°7> (which are
a MWXI) cannot be 0°% X1y, so certainly (°w) Ppwn which became &nv from a v
(wR1) cannot be Xnun a *93. Our Moon distinguishes between this 1"p and other
1", which we may offer.

nooIn asks:
- 1912911 59 ANNM YN NPV Y TN NONM PRIN PPYN TNINN ON)

And if you will say; according to this v''p, a (1) npwn, which became Xnv from

an (1wX1) 9298 should not be able to be 8»w» an ¥2IX (and make it into a *w5w) -
- 2w NS NY PPYN NN KD YN 1)

And similarly an (1w) 238 which became X»v from a (wx1) mpws should not
be Ppwn RMWRA to make them a *w>5w; this is the exact opposite of the views of >" y"!

moon answers (and distinguishes between the various 1"p):
= 9P NINY DIVN 95 RNVN PRY 2D NNT 9DINI IP 929V 93 NINT 991D YN

And one can say that here regarding o°2> and 7°pwn the X773 makes a valid 1''p;
that if by a nwx" "> which is not X»w» another 93, because the WX *93 has a

weak 7xmw it is only a WK -
=995 NPLN INMVN AR NINYWIT ANNIVN AN 1INV

For it is not an 782157 2R, for when a °%> is an 8217 28 (it touched a nn), it is
Nu» another %95 (and makes it a 7WX") -

- 5910 Y97 993 HNPNM BINAN PPYN 19V )
So "1w ppwn, which became Xnv from a WX Yo that are weaker yet than a %5

WX, can certainly not be Xnun a *92. This is regarding the 1"p of our X723 -
— 313 NYYD WY PRY 595 19950 YIIN NNPVM YN PRY NN YaN

However, this that 21X cannot be %218 X»Wu» is because 772 XX R PRW, itis a
‘technical’ problem, but it has nothing to do with the weakness of 92X per se; therefore pwn,

"'We should say if an WX 991X cannot be 7218 Rxvn (since 72 XX’ IR AW PR) S0 a *1w 7pwn which became Xnw
from an WX 21X can certainly not be Xvn an 92X to make it a "wow.
% See footnote # 1. If TR TPWn cannot be Ppwn Xnvn (since 72 XY XMW AW 1X) then certainly an *1w 9518 which
became Xnv from a WX 7pWn, cannot be 1PWn XnvA to make it a wHw.
? See “Thinking it over’. See also X"w an here and W 7"7 'on 2,7 [TIE “Thinking it over’ and ‘Appendix’].
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which does not have this ‘technical’ problem regarding 1791 (for the 921% [which it will be Xnavn]
is not ;72 XX1*2), can be PHIR KAV,

nooIn asks:
=995 INPVN NDT 193N NN VNIV D3 NNNN DINAN PPYN 9NN ON)

And if you will say; (wx") ppwn which became Xnv by touching a "9 (that is an

7RI aR), which touched a n», how do we know that it cannot be X»w» a ¥> -
=995 NNLVN NN VNIV DT INN KD Y997 9N P41

For we cannot exclude it from the previously mentioned 1'"'p, since a 9> which
touched a n» (which makes it an XMWY 2X) can be X»w» another 95 —

Nv0IN answers:

12505 *NY D192 ¥V 2993 19V PRYN YaN ‘2505 YIWA KD INNT I W
And one can say; that this P12 (which allows pwn to be Xnvn) is written by a
v w, but there is no written o2 regarding pw? which touched a “»> which
touched a n», that these Ppwn can also be Xnvn.

SUMMARY
The rule of 72 X¥1D 7w A8™W PR does not indicate a weakness in the R0 level
of the Xnun. There is no P10 that N NN X2 PWA can be X1 (only YW Nann).

THINKING IT OVER

Regarding the rule than 72 X¥1 axmw 7w 1R;° is that a rule in the Xnuni 727 (the
original item that is already Xnv), or is it a rule in the Xnvnni 727 (the item that
touched the Xnwn 127), that it cannot be IRV 22p7 from a 12 XY 127?

* This P09 is where the Ppwn were in a >3 into which a yaw fell. We only know that in this case >3 npwn can be
Nnvn.
5 Therefore we would not know that this 7PWn can be Xnun at all. We derive that it can be Xnvn from the case of yw,
however we say that the nn nnnn X2 7pwn cannot be stronger than the yw nnmn X273 7pwn (the rule of 1977 1 X277 17
71730 NR), so if YW namn IR0 ApWwa cannot be 2°92 Xvn, so too N NN XA AW cannot be 0°9 Xawn.
% See footnote # 3.
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